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LIFE SCIENCE

Paper 11

~,_

1
Time Allowed : 1—; Hours] [Maximum Marks : 100

Note :—This paper consists of fifty (50) multiple choice questions. Each question

carrying two (2) marks. Attempt all of them.

3. A hard disk is divided into tracks which are further subdivided into :

(A) Clusters : 2 (B) Sectors
- (C) Vectors (D) Heads
- 2. A computer program that converts assembly language to machine language
is : |
(A) Compiler (B) Interpreter
(C) Assembler ' (D) .Comparator
3. From what locations are the 1st computer instructions available on
boot up ? ’
(A) ROM BIOS (B) CPU
(©) boot. ini- : (D) CONFIG. Sys.
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4, Processors of all computers, whether micro, mini or mainframe, must

have : .
(A) ALU . ‘ ~ "(B) Primary storage
(C) Control unit (D) - All of these
5. Which of the following software packages is used for the composition in

printing press ?

(A) Lotus (B) Dbase
(C) PageMaker (D) Word Perfect
6. How is data represented inside the computer ?
(A) Logical system (B) Byte system
(C) Binary system (D) Hexadecimal system

T: Telnet is a :

(A) Network of telephones . (B) Television network

(C) Remote login (D) None of these
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8. ‘What component of NET includes services used to support web services ?
" (A) Platform (B) Framework
(C) Visual studio (D) System
9. An assembly language is a :
(A) Low level programming language
(B) Middle level programming language
(C) High level programming language
(D) Internet based programming language

10.  Systole is vitally important to heart function and begins in the heart with

‘the :

(A) activation of the AV node

(B) activation of the SV node

(C) opening of the voltage-gated potassium gate

(D) opening of the semilunar valves ¢
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11. Which of the following is not an ion homeostatically maintained in

vertebrates ?
A)  CI” | (B) Na*
(© Ca? | (D) FI
12. Which of the following is an example of commensah'sn:i ?
(A) A tapeworr.n livin.g in the gut of its host
(B) A cldwnﬁsh living among the tentacles of a sea anemone
(C) An acacia tree and acacia ants

(D) Bees feeding on nectar from a flower

13. Which of the foﬂowing can cause the realized niche of a species to be smalle

than its fundamental niche ?
(A) Predation : (B) Competition
(C) Parasitism (D) All of these
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14. Which one of the following acts as the “alarm signal” to activate the body’

adaptive immune system by stimulating helper T cells ?
(A) B cells _ (B) Interleukin-I
(C) .Complernent (D) Histamines
15. FSH and LH are produced by the :
(A) Ovaries (B) Testes
(C) Anterior pituitary (D) Adrenal glands
16. Humans excrete their e;{cess nitrogen wastes as :
(A) Uric acid crystals (B) Ammonia
(C) Compounds containing protein (D) Urea
17.  Cells that target and kill body cells infected by viruses are :
(A) Macrophages (B) Natural killer cells

(C) Monocytes (D) Neutrophils
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18. As a general rule, how much energy is lost in the transmission of energy

from one trophic level to the one immediately above it ?
(A) 1% ' (B) 10%
(C) 90% (D) 50%
19. Inverted ecdlogical pyramids of real systems usually involve :
(A) Energy flow i (B) Biomass
(C) Energy flow and biomass (D) None of these
20. Biological magnification occurs when :

(A) pollutants increase in concentration in tissue at higher trophic

levels

(B) the effect of a pollutant is magnified by chemical interactions ‘within

organisms
(C) an organism 1s placed under a dissecting scope

(D) a pollutant has a greater than expected effect once ingested by an

organism
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21.

22.

23.

24,

Which of the following groups is absolutely essential to the functioning of

an ecosystem ?

(A) Producers . - (B) Producers and herbivores
(C) Detritivores (D) Producers and detritivores
Which of the following poses the single greatest threat to Biodiversity ?
(A) Introduced species (B) Overhunting

(C) Movement corridors (D) Habitat loss

Which of the following hormones has the broadest range of targets ?
(A) ADH (B) Oxytocin

(C) TSH (D) Epinephrine

Which of the follbwing tissues produces the largest amount of heat ?
(A) Blood _ (B) Skeletal muscle

(C) Adipose tissue (D) Nervous tissue
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25.. Enzymes, proteins and hormones can be classified into a single category of

biological chem‘icals, because all qf these :
(A) help in regulating metabolism
(B) are synthesized by living organisms
(C) enhance oxidative metabolism

~ (D) are conjl'lgated‘proteins

26.  Classification of organisms based on evolutionary as well as genetic

relationships is called :
(A) Phenetics - (B) Numerical taxonomy
(C) Cladistics (D) Biosystematics
27.  Which of the following cells do not respire ?
(A) Epidermal cells (B) Sieve cells
(C) Erythrocytes (D) Cortical cells
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28. The environment most vulnerable to pollution is :
(A) aquatic (B) forest
(C) soil ‘ (D) grassland

'29.  The information sequence that determines the nature of protein is :

(A) nucleotide (B) gene
(C) triplet . | | (D) codon

30. If a colourblind female marries a normal male, their children will
be :

(A) colourblind sons and carrier daughters

(B) colourblind sons and colourblind daughters

(C) normal sons and carrier daughters

(D) normal sons and normal daughters

TBC-33/13/ET 18



98. WEHY § HHE YAV FO§ Afyew HagAeid ® 2
(A) Sl (B) =HA
©) o oD g
29. m%'wﬁmﬁwmwwmm%?‘
(A) FfrEEzEs (B) A
© froe (FeR) o (D)_aﬁgﬁ(d'cﬁw)

30. 3 wF Tuty B TH wHE W § faEwr wwd ®, @ SR waW

Bt

(A) a'vrfwgasikmgﬁa’f
(B) avﬁmgaaihavﬁ'—ugﬁrﬁ
(©) W I IR aww gt
(D) Wgﬂaﬂ'{wgﬁ'ﬂ’f

TBC-33/13/ET 19 : 2T.0.



31. A disease caused by an autosomal primary non-disjunction is :
(A) Down syndrome " (B) Turner syndrom;a
(C) Klinefelter syndrome (D) Tay-Sachs disease
32.  Which of the following trophic level byramid sometimes be inverted ?
(A) Energy (B) Biomass
(C) Bioce;ltration (D) ﬁiomagniﬁcation
'33. Monarch and Viceroy butterflies are an example of :
(A) Miillerian mimicry (B)‘ Batesian mimiecry
(C) Peckhamian mimicry (D) Vavilovian mimicry

34.  Which of the following is the correct sequence of warming potential of green

house gases ?
(A) CH, > N,O > CFC (B) CFC > CH, > N,O
(C) NyO > CH, > CFC (D) CFC > N,O > CH,
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35. In a population with two alleles ‘@’ and ‘b’ of a genotype in a ratio of 0.2
and 0.8 in Hardy-Weinberg equilibrium, how many individuals in a sample

of 300 can be gxpected to be homozygous for allele ‘@’ ?

(A) 192 (B) 12

(C) 64 (D) 96
36. Who discovered the operator and regulator genes i

(A) dJacob and-‘ Monod (ﬁ) Watson and -C.rick

(C) Khurana (D) Wilkins and Holley
37.  Which of the following types of plastids store proteins ?

(A) Elaioplasts | (B) Aleuroplasts

(C) Amyloplasts (D) Chromoplasts -
38. B-1, 4 glycosidic linkages are a characteristic of :

(A) Cellulose | (B) Callose

(C) Amylose (D) Inulin
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39. Porins are found in the membranes of :
(A) Plastids
(B) Vacuoles
(C) Endoplasmic reticulum (ER)
(D) Plasma membrane

40.  Which of the following plant hormones was discovered from a plant

-

source ?
(A) Indole-3-acetic acid (B) Gibberellic acid

(C) Abscisic acid | ) (D) Ethylene
41. The perianth is a term used when :

(A) Androecium and gynoecium are similar

(B) Calyx and corolla are similar

(C) Androecium and calyx are similar

(D) Gynoecium and corolla are similar
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42. The organisms which occur primarily or most abundantly, or spend

their greatest amount of time in junctions between communities, are

called : . i
(A) Network species (B) Keystone species

(C) Edge species (D) Link species

43. With increasing the negative values of water potential, the water availability
to plants : ) s
(A) is initially enhanced followed by reduction
(B) remains unaltered
(C) is reduced

(D) doubles

44. A perennial in which flowering and fruiting take place only once in its life

span, is called :
(A) Monocarpic (B) Monochlamydeous

(C) Monoecious (D) Schizocarpic
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45. Enzyme activity is affected by pH because :
(A) most substrates do not function well at high or low pH

(B) high or low pH may disrupt_hydrogen bonding or ionic interactions and

thus change the shape of the active site
(C) low pH will denature all enzymes
(D) changes in pH cause loss of co-factors from the enzyme

46. The organisms belonging to Kingdom Monera do ‘not possess one of the

following features :
(A) Nucleus without a nuclear membrane
(B) Rigid cel! wall
(C) They are microscopic
(D) They are parasitic in nature
47.  Selfing of monosomic plants leads to the production of :
(A) Disomic plants (B) Diploid plants

(C) Nullisomic plants (D) Heterozygous.
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48. When a female tetraploid plant is crossed with a male diploid plant, the ploidy

of the resulting embryo and endosperm, respectively are :
(A) Triploid and pentaploid ~ (B) Diploid and triploid
(C) Triploid and hexaploid (D) Triploid and triploid

49.  Which of the following criteria are identified as the basis of classification of

flowering plants according to Bentham and Hooker’s system ?
(A) Growth habit' .
(B) Number, union, length and certain other characters of the stamen
(C) Relationships of comparable structures in different organisms
(D) Habit, form and structure
50. Protandry is the situation when :
(A) Anthers mature before the stigmas of the same flower -
(B) Anthers mature after the stigmas of the same flower
(C) Anthers and stigmas mature at the same tiine

(D) Anthers of a flower pollinate stigmas of another flower
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